=LPDB

*UXSD S5RINiDG )*3 7/

7\J

N
31-1 VSUDZQRGFL

N
31-1 VSUDZQRGFL

7N\J
+LVIRULD (LIHUDIXU\

o4 JLQIHIIRZDQH GU JLQIHIIRZDQH GU QHPIHFNRICT\F]QHI FZ
B]QXINRZVN. B]QXINRZVN. GU 6]QXINRZN.
3U]HP\ViDZ SIRI 8-~ ~ 3U]HP\ViDZ SIRI 8-~ ~ 3U]HP\ViDZ SIRI 8-~ ~
( Y3/ = ( Y3/ = ( Y3/ =
7N 7N 7N 7N
+LVIRUD WHUDIXI *DPDIND RSIVRZD Z -RPXQINDFID OHIRG\ XFJHQID VIC L
QHPIHFNRIC]\FIQHI Z GU 3DZINRZVND LQIHINXIXIRZD Z G VIXGIRZDQID G 6NZDUD
GU 6]QXINRZN. SVHQGUNFK (ITEIHID OIFY KDE 61\QGIHU $QQD $QGUIHI  OLFURVRI
3UJHP\ViDZ SIRI 8-~ RVRII 7($06 =DICFID RQ SIRI 8- OIFIRVRII 7($06 =DICFID RQ UQH
> OIFIRVRII 7($06 0QH  )*3/ = 7(306 =DICFID RQ 1QH Y/ = )*3
I 7DUCFLE) RQUQH  )*3 2\ Y3/ = /7
x : Z NI ZNJ  JRG]
N Z NI
7N
SHDIR]QDZVIZR NIDlyZ ™
QHPIHFNHIR REV] I€] SHDIR]QDZVIZR NIDlyZ
iZ SURI GUKDE +XUQIN QHPIHFNHIR REV] 1]
QTEHD = ( UZ SURI GUKDE -+XUQIN
Y3/ = QTEHD =
| )*3/ -
7N 7N 7\6]
o 31-1 JIDPDAND - VICS GR SHDIR]QDZVIZR NIDlyZ
o SUDNINF]QD GU SHVIND WHUDIXUR]QDZVIZD Z QHPIHFNHIR REV] 1]
3 SIQHVIND = ( GU SHVIND $IQHVIND = UZ SURI GUKDE -+XUQIN
T )3/ = ( )3/ = (IMEHID = (
‘ ‘ ZNg )3/ =
|
=z 7N 7N 7N 7N
% 31-1 VSUDZQRGFL 31-1 WRJXPLHQH JH 31-1 NRQZHWDFH *UDPDI\ND RSIVRZD
a 1LQIHIIRZDQH GU VIXFKX Gl 6]QXINRZN. iZ GUSXVHN %HDID =% IE]\ND QHPLHFNHJR GZ
N B]QXINRZVN. 3UJHP\ViDZ SIRI 8-~ ~ Y3/ = G 3DZINRZVND
= 3UHP\ViDZ SIRI 8- * ( Y3/ = SVHQGUNFK (ITELHID =%
w ( 3/ = Y3/ =
=
%)
o
©




